National Testing Agency

Question Paper Name: Online Refresher Course in Management
Subject Name: Online Refresher Course in Management
Creation Date: 2019-03-30 20:10:10

Duration: 180

Total Marks: 100

Display Marks: Yes

Cnline Refresher Course in Management

Group Number : 1

Group Id: 90958237
Group Maximum Duration : 0

Group Minimum Duration : 120
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0

Group Marks: 100

Cnline Refresher Course in Management

Section Id : 90958237
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 100
Number of Questionsto be attempted: 100
Section Marks: 100
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 90958239
Question Shuffling Allowed : Yes

Question Number : 1 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
VUCA stands for

a) Volatile, Ubiquitous, Complex, Ambiguous
b) Vulnerable, Ubiquitous, Complex, Ambiguous
c) Volatile, Uncertain, Complex, Ambiguous
d) Vaccine, Uncertain, Complex, Ambiguous
Options:
1. 4
2 B



3.
4. D

Question Number : 2 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

As per Indian Companies Act 2013, the audit committee is composed of

a) Minimum 3 directors (with independent director forming majority)

b) Minimum 3 directors (with independent director need not form majority)
c) Minimum 7 directors (with independent director forming majority)

d) Minimum 7 directors (with independent director need not form majority)

Options:
1. A
2. B
3
4. D

Question Number : 3 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A(n) would be an example of a principal, while a(n) would be an
example of an agent.

a) shareholder; manager

b) manager; owner

c) accountant; bondholder

d) shareholder; bondholder

Options:
1 4
2. B
3.0
4. D

Question Number : 4 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

refers to meeting the needs of the present without compromising the ability of future
generations to meet their own needs.

a) Corporate Social Responsibility

b) Sustainability

¢) Convergence

d) Green Economics

Options:
1 A
2. B
3.
4. D

Question Number : 5 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0

Which among the following regulate the commodity markets in India?

1. RBI
2. SEBI
3. Forward Market Commission
a) Only 2
b)Only 2 & 3
c)Only 1 & 3
d) Only 3

Options:

1.4

2 B

3 C

4.D

Question Number : 6 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What is NCDEXRAIN in case of Commodity Market
a) Rainfall index of NCDEX

b) Rainfall calculation of India

c) Total Rainfall aggregate in India

d) None of the above

Options:
1. A
2. E
>
4. D

Question Number : 7 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Shruti and her husband both are currently working in Delhi and live in a rented house. They are exploring to
settle in some other city in the near future. Simultaneously, they also want to buy a house also to avoid the
rent. Choose the suitable options amongst the suggestions they received from their friends:

a) Buy, if you can arrange a monthly mortgage payment less than current house rent.

b) Continue renting, because the real estate is not easily convertible into cash and costly to buy and sell.

c) Buy, because real estate will always increase in value.

d) Continue renting, because rental payments are tax deductible but mortgage interest payments are not.

Options:
1 A
2. B



3.
4. D

Question Number : 8 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A statistical measure of the degree to which two variables can move together is
a) Coefficient of variation

b) Variance

c) Covariance

d) Sharpe ratio

Options:
1. A
2. B
3
4. D

Question Number : 9 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A Financial Planner advised Neeta to maintain monthly budget for her family on regular basis because as
per financial planner a monthly budget is an effective tool that will help her:

a) spend a larger share of her earning now

b) manage her spending and save for the future in order to accumulate wealth

c) reduce transportation by purchasing a new car two or three years

d) select stocks that are more likely to increase in value over the long run

Options:
1 A
2. E
3
4. D

Question Number : 10 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Raj and Shyama are doing their financial planning and purchased life insurance policy of Rs. 10,00,000 as
well as health insurance plan for Rs. 1,50,000. They also make investment for their children education
through systematic investment plan (SIP) and pay their car loan on regular basis. Now they want to keep
some funds for “surprise” expenditure. Which of the following is the best option to set funds aside for
"surprise" expenditures?

a) The Stock Market

b) Ownership of real estate

c) A Saving Account

d) At home

Options:
1 A
2 B



3.
4. D

Question Number : 11 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The greater the beta, the of the security involved.
a) Greater the systematic risk

b) Greater the unsystematic risk

c) Greater the total risk

d) None of the above

Options:
1 4
2. B
3.0
4. D

Question Number : 12 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Historical Cost Approach was developed by
a) Brummet, Flamholtez and Pyle

b) Likert and Flamholtz

c) Hekimian and Jones

d) Lav and Schwartz

Options:
1 4

Z2 B
AL
4. D

Question Number : 13 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
GAAP stands for
a) Generally accepted accounting principles
b) Globally accepted accounting practice
c) Generally allowable accounting practice
d) Generally allowable accounting principles

Options:
1. A



=
3.
4. D

Question Number : 14 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which of the following describes the purpose of qualitative research?

a) It describes and answers questions about participants and contexts.

b) It explores a phenomenon to better understand it.

c) It answers questions and illuminates issues that cannot be answered by quantitative methods
d) All of the above

Options:
1 A
2. B
3.
4 D

Question Number : 15 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which of the following describes an important reason for exploring qualitative topics?
a) Qualitative research can identify differences in the meanings of activities and practices across situations
that appear on the surface quite similar in nature.

b) Qualitative research has the potential to provide insight into situations that increases our understanding
of them.

c) Qualitative research can provide understanding of a particular setting or contextually relevant situation.
d) All of the above

Options:
1. A
2. B
3
4. D

Question Number : 16 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following indicates a sell signal to technical analysts?
a) The advance-decline line is rising in a falling market

b) The amount of short selling done by specialists is high

c) The resistance level is broken

d) The majority of stock market newsletters are bearish

Options:
1 A
2. E



3.
4. D

Question Number : 17 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A Candle chart is used to illustrate

a) high, low, opening and closing prices on a daily basis

b) advances and declines of stock prices

c) reversal in the direction of stock prices without consideration of time
d) high, low and closing stock prices on a daily basis

Options:
1. A
2. E
3.
4. D

Question Number : 18 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Delivering different messages to members of a business decision making unit is a key difference between
B2C and B2B marketing which is reflected in web design through

a) different feature stories appealing to different members of the audience

b) content referencing the needs of companies of different sizes

c) different navigation options appealing to different members of the audience
d) questions on a form enquiring about the status of the business in the purchase decision process

Options:
1 A
2. B
3.
4. D

Question Number : 19 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Currently who decides the monetary policy of India?
a) Reserve Bank of India

b) Monetary Policy Committee

c) Banking Association of India

d) NITI Aayog

Options:
1 A
2. B

3.



4. D

Question Number : 20 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Line access and avoidance of collision are the main functions of
a) wide area networks

b) network protocols

c) the monitor

d) the CPU

Options:
1. A
2. B
3
4. D

Question Number : 21 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

India has the largest Higher Education System in the World after :

(1) The United States of America (2) Australia (3) China (4) United Kingdom
a) (1), (2), (3) and (4)

b) (1), (2) and (3) only

c) (1), (2) and (4) only

d) (1) and (3) only

Options:
1. A
2. E
3.
4. D

Question Number : 22 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In , the entrepreneur has the right to sell any assets.
a) Partnership
b) LLP
c) Proprietorship
d) Company
Options:
1.4
2 B

3.



4. D

Question Number : 23 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In which of the following, the ownership is reflected by ownership of shares?
a) LLP

b) Proprietorship

c) Partnership

d) Company

Options:
1. A
2. B
3
4. D

Question Number : 24 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Entrepreneurship can best be described as

a)a process involving innovation, new products or services, and value creation
b) a process that requires setting up a business

c) taking a significant risk in a business context

d) having a strong vision

Options:
1 A
2. E
3
4. D

Question Number : 25 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of these statements best describes the context for entrepreneurship
a) Entrepreneurship takes place in small businesses

b) Entrepreneurship takes place in a wide variety of contexts

c) Entrepreneurship does not take place in social enterprises

d) Entrepreneurship takes place in large businesses

Options:
1. A
2. B



3.
4. D

Question Number : 26 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The period of business when an entrepreneur must position the venture in a market and make necessary
adjustments to assure survival is called the

a) pre-startup stage.

b) startup stage

c) early growth stage

d) None of the above

Options:
1 A
2. B
3.
4 D

Question Number : 27 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

MVP in terms of startup, stands for:
a) Minimum Viable Product
b) Minimum Variable Product Cost
c) Maximum Viable Product
d) Maximum Variable Product Cost
Options:
1 4
2 B
3.C
4D

Question Number : 28 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Which one of the following is an economic barrier to an entrepreneur
a) Lack of sustained motivation
b) Emotional blocks
c) Labour
d) lack of vision
Options:
1 4
> B

3.
4. D



Question Number : 29 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

An advantage of which of these tactics is that there is a shorter start-up time and an existing track record?
a) Buy an existing business

b) Buy a franchise

c) Start a new business

d) Participate in a business incubator

Options:
1. A
2. B
3.0
4. D

Question Number : 30 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The primary concerns when first starting your business are
a) Marketing and Accounting.

b) Planning and Human Resources

c) Financing and Planning.

d) Financing and Marketing

Options:
1. A
2. E
>
4. D

Question Number : 31 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Nifty is trading in 9130 on 20th May. An investor, Mr. Aakash enters a short straddle by selling a June Rs

9000 Nifty Put for Rs. 180 and a June Rs. 9200 Nifty Call for Rs. 150, calculate the break-even level.
a) 9000

b) 9100
c) 9200
d) None of the above

Options:
1. A
2. B
3
4. D

Question Number : 32 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



is the degree of perceived physical or psychological closeness between people; manifesting in
either approach or avoidance
a) Immediacy
b) Adaptability
C) assurance
d) Trustworthiness
Options:
1.4
2. E
3.C

4. D

Question Number : 33 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

As a teacher, there are multiple possible-tools that one can select. Choose best possible tool for analogies
a) Group tasks

b) Simulations

c) Assignments

d) Role Plays

Options:
1. A
2. B
3.0
4. D

Question Number : 34 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

is accurately interpreting observations for cognitive & emotional empathy.
a) Awareness
b) Attunement
c) Adaptability
d) 1Q

Options:
1 A
2. B
3.
4 D

Question Number : 35 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The quote - “Effective teaching is 1/4th preparation and 3/4th theatre” was givenby
a) Gail Godwin

b) Benjamin Franklin

c) Lloren

d) Louise

Options:
1. A
2. E
>
4. D

Question Number : 36 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Marketing that moves away from a transaction-based effort to a conversation (i.e. two-way dialogue) and
can be described as a situation or mechanism through which marketers and a customer (e.g. stakeholders)
interact usually in real-time is known as:

a) Digital marketing.

b) Interactive marketing.

c) Direct marketing.

d) Electronic marketing.

Options:
1. A
2. E
3.
4. D

Question Number : 37 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Suppose you are invited to conduct a workshop for training students on Public Speaking and Debate. Which
of the following outcomes is least likely to be expected from your session?

a) Concept

b) Control over emotions

c) Using language creatively

d) Voice modulation

Options:
1 A
2. E
3
4. D

Question Number : 38 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



An advertising model in which advertisers bid on keywords or phrases relevant to their target market, with
sponsored/paid search engine listings to drive traffic to a website is called:

a) Contextual Advertising

b) Search Engine Optimization (SEQ)

c) Digital Asset Optimization (DAO)

d) Pay Per Click (PPC)

Options:
1. A
2. E
3.
4. D

Question Number : 39 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

is a simple and intuitive online app that allows users to share and communicate about images

securely. It allows users to easily ‘point’ at a part of the picture while talking about it and keeps all
discussion organised for teachers.

a) Marqueed
b) Zotero

c) Popplet

d) Todoist

Options:
1. A
2. E
3
4. D

Question Number : 40 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In which approach, the teacher plans to complement the lesson with an innovative presentation method to
promote class discussion and the visualisation of problems.

a) Enhancement Approach

b) Complementary Approach

c) Integrated Approach

d) Augmented approach

Options:
1. A
2. E
>
4. D

Question Number : 41 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



CLP stands for :

a) Computer Learning Partner
b) Conceptual Learning Partner
c) Computer Learning Process
d) None of them

Options:
1 A
2. B
3.
4 D

Question Number : 42 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

A detailed, step-by-step description of the company’s customary method of handling activities is a
a) Policy
b) Procedure
c) Rule
d) Vision
Options:
1. A
2. E
L

4. D

Question Number : 43 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

One of the new ideas in management discusses the theme of “Corporate Rishi”, idea emanating from Indian
ethos. Which type of leader can be associated with this concept?

a) Authoritative leaders

b) Democratic Leader

c) Benevolent Leader

d) Enlightened Leader

Options:
1 A
2. B
3.
4. D

Question Number : 44 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The equation of Theory K goes like K= X*a.YAb.ZAc. For this, which of the following holds true?
a) a<bh<c
b) a=b=c
c) a>b>c
d) None of them
Options:
1.4
2. B
3 C
4 0

Question Number : 45 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

interaction matrix is useful in making an analysis of the inter-personal conflicts. It also helps us in
understanding the causes of high negative energy or negergy in organizations
a) MBA
b) CINE
c) Corporate Rishi
d) OSHA

Options:
1 A
2. B
3.
4 D

Question Number : 46 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which of the following statements concerning the rational and emotional aspects of leadership is false?
a) Leaders can use rational techniques and/or emotional appeals in order to influence followers

b) Leadership includes actions and influences based only on reason and logic

c) Aroused feelings can be used either positively or negatively

d) Good leadership involves touching others’ feelings

Options:
1 A
2. B
3.
4 D

Question Number : 47 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
For which type of learner the use of the Socratic method of lecturing by questioning is better?
a) Visual learners
b) Auditory learners
c) Kinesthetic learners
d) None of them



Options:
1 A
2. E
3
4. D

Question Number : 48 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In response to low levels of student performance in General Management subject, the College Head has
appointed a committee to review and revise the subject’s curriculum. Upon reviewing the draft curriculum
produced by the committee, the College Head should be most concerned about which of the following
issues?

a) The curriculum will require students' regular use of higher-order thinking skills beginning at the earliest
grade levels.

b) The curriculum includes repetition of skills and concepts at different grade levels.

c) The curriculum does not closely reflect the structure and content of General Management texts available
in the college for each grade level.
d) The curriculum contains gaps in the sequence of content covered across grade levels

Options:
1 4
2. B
3.0
4. D

Question Number : 49 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Approaches to the study of leadership which emphasis the personality of the leader is termed

a) Contingency theories
b) Trait theories

c) Group theories

d) Inspirational theories

Options:
1 A
2. B
3.
4. D

Question Number : 50 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



A is a person, who develops others and leads from any position within an organization by leading
down, leading across and leading up.

a) 360 Leader

b) Authentic Leader

c) Autocratic Leader

d) Democratic Leader

Options:
1 4
2. B
3.0
4. D

Question Number : 51 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

According to the Attribution Theory of Leadership, there are many ways in which an organization might be
negatively impacted by a leader's attributions. How might that organization be positively affected?

a) A false sense of security might develop in the organization through given attributions.

b) The leader might develop an overly positive view of an employee on a day that is not representative of
that employee overall.

c) The leader's perspectives and assumptions could be incorrect about employees

d) Employees could be recognized and accurately placed within the organization based on attributions

Options:
1. A
2. E
3.
4. D

Question Number : 52 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In case, some students in your class are exceptionally bright, you will teach them
a) along with the class

b) by enriched programmes

c) along with higher class

d) only when they want

Options:
1 A
2. B
3
4. D

Question Number : 53 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



‘Contingent' when used in a leadership sense means what?

a) That the success of a leader depends on certain factors the leader must be cognizant of and must adjust
their approach appropriately

b) Leadership is about taking into account the emotions of others

c) Leaders must be ruthless in their approach

d) Leaders can either be task or people oriented

Options:
1. A
2. E
3.
4. D

Question Number : 54 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

According to Bass’ (1998) definition, which of the following is NOT a characteristic of Transactional
Leadership?

a) Individualised Consideration

b) Contingent Reward

c) Active Management-By-Exception

d) Passive Management-By-Exception

Options:
1 A
2. E
3
4. D

Question Number : 55 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Kind of advertising that appears while consumers are browsing internet such as search related ads, online
classifieds and display ads is classified as

a) inbound advertising

b) outbound advertising

c) online advertising

d) buzz advertising

Options:
1 A
2. B
3.
4 D

Question Number : 56 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



Which company acquired the Noida-based last-minute hotel booking app NightStay?
a) Redbus

b) Paytm

c) Phonepe

d) Uber

Options:
1 A
2. B
3.
4 D

Question Number : 57 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Who is a whistle blower?

a) A subversive person spying on a company

b) Usually a disgruntled ex-employee

c) An investigative journalist

d) A person who signals illegal or unethical practice to a prescribed body.

Options:
1. A
2. E
>
4. D

Question Number : 58 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following allowed the investors to buy mutual fund through digital wallets?
a) Stock Exchange board of India (SEBI)

b) Financial analysis department

c) Monitoring Mutual Fund Investments

d) Credit Rate List department

Options:
1. A
2. E
>
4. D

Question Number : 59 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Rank the following as per risk factor associated with them (highest risk =1, minimum =3
1. Cash equivalents (such as deposits)

2. Bonds and Mutual funds

3. Stocks / equity

a) 1,2,3

b) 1,3,2

£)2,1.3

d) 3,2,1

Options:
1. A
2. B
3
4. D

Question Number : 60 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Most financial planning fails in absence of an in place
a) efficient cash flow system

b) robust investment

c) asset management

d) credit mechanism

Options:
1 A
2. B
3
4. D

Question Number : 61 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Right way to think about investing is that we but
a) take risk, with a seat belt on

b) avoid risk, with a composed mind

c) take risk, without alternate option

d) avoid risk, with seat belt on

Options:
1 4

2. B
3.
4. D



Question Number : 62 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

One aspect of personal finance is to manage our and
a) cause and result

b) greed and fear

c) wealth and investment

d) personal and professional life

Options:
1. A
2. B
3
4. D

Question Number : 63 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Factor analysisis a technique
a) non-linear

b) multivariate

c) qualitative

d) none of these

Options:
1 A
2. B
3
4. D

Question Number : 64 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Two types of factor analysis are factor analysis and factor analysis.
a) Exploratory, Confirmatory

b) parametric, non-parametric

c) linear, non-linear

d) regressive, non-regressive

Options:
1.4

Z2 B
3.
4. D



Question Number : 65 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Communality is basically the amount of a variable shares with all the other variables
a) variance

b) regression
c) significance
d) none of these

Options:
1.4

Z2 B
3.
4. D

Question Number : 66 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Human reality is constructed
a) technically

b) complexly

c) socially

d) paradoxically

Options:
1 4
2. B
3.0
4. D

Question Number : 67 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

As per indigenous knowledge traditions, human science needs to be
a) contextually agnostic

b) cultural specific

c) universal

d) agnostic

Options:
1 A
2. B
3.
4 D

Question Number : 68 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0

The western research paradigms became dominant over the time. To re-create the balance, indigenous
research approaches help in utilization of knowledge.

a) social-scientific

b) technical

c) informative

d liberal

Options:
1 A
2. B
3.
4. D

Question Number : 69 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of these is the most important outcome of self-management and Integrative Intelligence?
a) Improvement in efficiency

b) Increase of effectiveness

c) Enhancement of natural reflexes

d) Developing ease of working

Options:
1 A
2. B
3.
4 D

Question Number : 70 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

We are observing that new models of management are being developed considering the need of the hour.
One such approach is promoting self-management in an organization saves hidden costs because ?
a) employees don’t use their instinct

b) employees are followers

c) organization adopts cost cutting

d) employees use their natural instinct

Options:
1 A
2. B
3.
4. D

Question Number : 71 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



A large number of theories and concepts around intelligence have been developed. However, the idea

Integrative Intelligence is different from other intelligences. One of the factors is its approach to not
attempt ?

a) contextual relevance
b) universalism

c) open architecture

d) cultural embeddedness

Options:
1 A
2. B
3.
4 D

Question Number : 72 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
"Rajya moolam indriya jayah", this idea underlines the concept that the basis of good governance
/management is ?
a) control over heart
b) control over sub-ordinates
c) control over sense organs
d) control over enemy / competitor

Options:
1. A
2. E
>
4. D

Question Number : 73 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Laws of Naarad on apprentices give us a wake-up call to have a strong policy for ?
a) Labourers

b) CEOs

c) Interns

d) All of these

Options:
1. A
2. E
3
4. D

Question Number : 74 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Bharatiya scriptures explicitly state - "business without virtue is exploitation and theft, and should be
treated accordingly”. In today's time what is most close idea that suggests holding business accountable on
similar lines?

a) Society's expectations

h) Competition

c) Ethical employees

d) Corporate Governance

Options:
1 A
2. B
3
4. D

Question Number : 75 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Artificial Intelligence presents opportunities to and human intelligence and
enrich the way people live and work.

a) Facilitate and Control

b) Complement and Supplement

c) Reduce and Diminish

d) Control and Determine

Options:
1. A
2. B
3
4. D

Question Number : 76 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which is true for narrow artificial intelligence?
a) Overall Automation

b) Developed and trained for a particular task.
c) Project Handling

d) Capacities equivalent to human potential

Options:
1 A
2. B
3
4. D

Question Number : 77 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which holds true for artificial general intelligence?
a) generalized cognitive abilities

b) find solutions to the unfamiliar task
c)bothaandb

d) none of these

Options:
1 A
2. B
3.
4 D

Question Number : 78 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

In marketing by leveraging , effectiveness of content & advertisements can be
improved. (chose the most relevant)

a) neuroscience and biometric sensors
b) offline sales data

c) sales person's input
d) customer inputs

Options:
1 A
2. B
3.
4. D

Question Number : 79 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A research initiated to solve an immediate problem or a reflective process of progressive problem solving
led by individuals working with others in teams or as part of a “community of practice” to improve the way
they address issues and solve problems is which type of research?

a) Grounded Theory Research

b) Collaborative Research

c) Action Research

d) Case Study Research

Options:
1. A
2. E
3.
4. D

Question Number : 80 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



For venturing into consultancy and still remaining academically relevant, research can be useful.
a) Qualitative

b) Quantitative

c) Phenomenology

d) Action

Options:
1. A
2. E
3.
4. D

Question Number : 81 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In the current era, dynamic changes are affecting work environment significantly. The research domain is no

exception to it. So, the researchers of today’s time can focus on core research aspects by leveraging
Intelligence

a) Social

b) Emotional

c) Artificial

d) Contextual

Options:
1 4

Z2 B
AL
4. D

Question Number : 82 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

One of the most important aspects of Gurukul is the connect between teacher and student.
a) Cognitive

b) Logical

c) Emotional

d) Knowledge

Options:
1 A
2. B
3.
4 D

Question Number : 83 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The Silicon valley school chain that avoids technology is
a) Innovative School

b) Traditional School

c) Rudolph Steiner

d) Classical Chain

Options:
1. A
2. E
3.
4. D

Question Number : 84 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

While discussing about Bharatiya philosophy, we encounter an idea of Drishyate-anen-iti-darshanam, which
implies - the thing that throws light on the and gets revealed.

a) Truth, Information

b) Phenomenon and Knowledge

c) Knowledge and Truth

d) Data and Information

Options:
1. A
2. B
3.0
4. D

Question Number : 85 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Many scholars have been arguing over the definition of education and yet no perfect definition has been
evolved. However, in Bharat, we are fortunate enough to have a wonderful idea of “Saa vidya yaa
vimuktaye” implying that education is one that

a) provides employment

b) that provides knowledge

c) liberates

d) develops skills

Options:
1 A
2. B
3.
4 D

Question Number : 86 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



Interpretation skills are one of the most essential skills in contemporary times. With huge amount of data,
information and knowledge present everywhere, thanks to digital medium, it is a big challenge to infer and
draw insights. One of our indigenous approaches called Shastrarth can help us in the regard. As itis a
process of deriving real meaning of , which is (are) infinite resources in themselves. (choose the
most appropriate)

a) Upanishad

b) Puraan

c) Ved

d) Any Shastra

Options:
1. A
2. E
3.
4. D

Question Number : 87 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

As we aware that many events are named as Shastrarth these days. However, to derive real benefit,
is very important for organizing successful Shastrarth in its true spirit.

a) Calm audience

b) Saatvik Approach

c) Vision

d) Expert ideas

Options:
1 A
2. B
3.
4 D

Question Number : 88 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Five point framework for articulating point of view for effective Shastrath is known as
a) Darshan

b) Avayav

c) Mukhya-bindu

d) Pratipadya Vishay

Options:
1. A
2. B
3.0
4. D

Question Number : 89 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



A number of educationists consider examination as a tool to control of education, and to
obtain for both the students and teachers. (chose the most appropriate)

a) depth, feedback

b) penetration, feedback

c) quality, feedback

d) problems, interest

Options:
1 A
2. B
3
4. D

Question Number : 90 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following are good practices towards examination reforms:

1. One of the approach to education is to design tests which have a diagnostic orientation and use to assess
learner needs and then accordingly plan teaching pedagogy and material for students.

2. Adhering to academic calendar

3. Changing syllabus very frequently

4. Introducing Comprehensive Continuous Assessment

a)1,2,3

b) 1,2,3,4

) 2,3,4

d)1,2,4

Options:
1 A
2. B
3
4. D

Question Number : 91 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

It is suggested that for getting best results of semester system and choice based credit system, it is essential
to introduce

a) Open Book Examination

b) Online courses

c) No Detention Policy

d) Comprehensive Continuous Assessment

Options:
1. A
2. E
>
4. D

Question Number : 92 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



One of the requisites of semester system is
a) Online learning

b) Low Faculty to Student Ration

c) High Faculty to Student Ration

d) High cost

Options:
1. A
2. B
3
4. D

Question Number : 93 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The challenge(s) in implementing education reforms across the country with diverse needs are (are)?
a) Difficulty in driving change

b) resistance of authorities

c) Lack of innovative solutions

d) All of the above

Options:
1. A
2. E
>
4. D

Question Number : 94 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

CBCS stands for

a) Choice Based Score System

b) Choice Based Calculation System
c) Choice Based Credit System

d) Choice Based Conducting System

Options:
1. A
2. B
3.0
4. D

Question Number : 95 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



A major deficiency is linking of education to job and keeping aside the core essence of education that is

creation, development and inculcation.
a) skill, knowledge, value

b) knowledge, value, skill
c) value, skill, knowledge
d) knowledge, skill, value

Options:
1. A
2. E
3.
4. D

Question Number : 96 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Choose the correct alternative:
1. CBCS allows interdisciplinary curriculum
2. Permits transfer of credits from one institute to another.
3. Allows a student to decide upon his/her own pace of learning depending upon his/her capabilities and
priorities.
a) 1 and 2 only
b) 2 and 3 only
c) 1,2,3 all
d) none of these
Options:
1.4
2. E
3

4. D

Question Number : 97 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Two methods to convert marks into grades are method and method
a) Nominal, Ordinal

b) Nominal, Scale

c) Absolute, Relative

d) Relative, Nominal

Options:
1 A
2. B
3
4. D

Question Number : 98 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Relative grading is based on distribution of marks obtained by all the students in a particular
course

a) Normal

b) Binomial

c) Exponential

d) Discrete

Options:
1 A
2. B
3.
4. D

Question Number : 99 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

If the expected return of Coffee and soft drink business is 15% and 20% respectively. If investment is made
in the proportion of 80:20 what would be the expected return of the portfolio.

a) 15

b) 16

c) 17

d) 18

Options:
1 A
2. E
3
4. D

Question Number : 100 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Mr. P invested Rs. 10000 in each shares of X Itd and Y Ltd. which carry a risk of 10% and 12% respectively.
He had computed the risk of portfolio as 11%, being the weighted average risk. The correlation coefficient
between X Itd and Y Itd. found 0.25. What is the risk of portfolio?
a)5.72
b) 6.72
c) 8.72
d)9.72
Options:
1. A
2. B
3. C

4. D



